



Name: _____

Date: _____ Score: _____

$$2^{(-2)} - (-2) =$$

$$(-7)^{(-2)} - (-4) =$$

$$(-8)^{(-1)} + 7 =$$

$$(-6)^2 + (-2) =$$

$$8^{(-2)} - 3 =$$

$$4^{(-2)} + 9 =$$

$$9^{(-2)} - (-9) =$$

$$(-10)^2 + 6 =$$

$$(-2)^0 - (-2) =$$

$$8^2 - 10 =$$

$$(-7)^2 + 10 =$$

$$5^{(-2)} - (-8) =$$

$$(-5)^0 - (-7) =$$

$$2^0 + 4 =$$

$$(-4)^{(-1)} - (-1) =$$

$$(-8)^2 + 2 =$$

$$9^2 + (-3) =$$

$$(-9)^2 - (-7) =$$

$$(-4)^{(-1)} + (-5) =$$

$$8^{(-2)} - (-10) =$$



Name: _____

Date: _____ Score: _____

$$2^{(-2)} - (-2) = \frac{9}{4} = 2\frac{1}{4}$$

$$(-7)^{(-2)} - (-4) = \frac{197}{49} = 4\frac{1}{49}$$

$$(-8)^{(-1)} + 7 = \frac{55}{8} = 6\frac{7}{8}$$

$$(-6)^2 + (-2) = 34$$

$$8^{(-2)} - 3 = \left(-\frac{191}{64}\right) = \left(-2\frac{63}{64}\right)$$

$$4^{(-2)} + 9 = \frac{145}{16} = 9\frac{1}{16}$$

$$9^{(-2)} - (-9) = \frac{730}{81} = 9\frac{1}{81}$$

$$(-10)^2 + 6 = 106$$

$$(-2)^0 - (-2) = 3$$

$$8^2 - 10 = 54$$

$$(-7)^2 + 10 = 59$$

$$5^{(-2)} - (-8) = \frac{201}{25} = 8\frac{1}{25}$$

$$(-5)^0 - (-7) = 8$$

$$2^0 + 4 = 5$$

$$(-4)^{(-1)} - (-1) = \frac{3}{4}$$

$$(-8)^2 + 2 = 66$$

$$9^2 + (-3) = 78$$

$$(-9)^2 - (-7) = 88$$

$$(-4)^{(-1)} + (-5) = \left(-\frac{21}{4}\right) = \left(-5\frac{1}{4}\right)$$

$$8^{(-2)} - (-10) = \frac{641}{64} = 10\frac{1}{64}$$